


Szego prize :

/ Consider the following statements about Gabor
thematics, USA, awards this prize.

(1) The Society of Industrial and Applieq Ma
/ (2) This prize is awarded every year.
(3) This is awarded to an early Career rege
and special functions.
(4) In the year 2021, an Indian was awardeq this prize
Which one of the above is/are correct Statements 1

(A) (1), 3), (4) B) (2, 3). @

© (1)@, 3 M7 (1), @), 3), 4
'ﬁaﬁtﬁﬁ'g‘mﬁ:aﬁﬁﬁwﬁﬁﬂ_@iﬁnﬁ%)ﬁ(ﬁ:ﬁ() %

() 6 [ 00T, & & WO 6% et s orergs Aadfer zma B o & 1~
) @ e wied fean wmr &P

(3) 7w g st dieeiered ad i vaem 5 g i ol S Radt @ e d o
(4) =d 2021 ¥ ¥ q@ER T EE B my o

I B T BE-| | FA-G G W& 7

(A (1), 3), @) - B) 2, 3), @) ¥

© (1. @), G) D) (1), @), Q). @ ¢

archer in the area of orthogonal polynomials

Justice Madan B Lokur committee was set up to take steps to
(A) Look into violation of environment rules. (B) Prevent stubble burning

(C) Draft new water policy (D) Regulate digital lending
aftzq wEm A W@t W@ @ e ¥ watu ¥ fou ammar o ?
(A) walaim Fal & oweT @ dE ) Wl (§8) oW
(C) % wer g === (D) fefew &= &1 Fram &

5  Goods and Services Tax (GST) was introduced as a part of indirect tax reforms in India.
Which of the following are the salient features of the GST ?

(1) GST is applicable on the manufacture of goods or on sale of goods or on provision
of services

‘ﬁ) GST is applicable on supply of goods or services

(3) GST is based on the principle of destination-based consumption mia_[.i.“"
,)4)/ GST is levied at rates decided by GST Council.
7 SelecT the correct answer using the code given below :

(A) (1) and (4) Only (B) (2) and (3) Only

(C) (2). (3) and (4) Only By (1), (3) and (4) Only

i A e ol dael W AT 0@ e AR & WM % W F @ R o an b ¥ &
Frh agat o el W @y @ g &7

(D) aﬁﬁmw&wmmﬁﬁwmﬁeﬁaﬁﬁﬁmwﬁmﬁﬂm

el G _

@) =ge ot dERl T ¢ Gl S et @ emR 9T A

(3) =gl ot FEE 9T & A mﬂﬂﬁimﬁ?ﬂﬂs I‘t@m_m et ¥ |

(@) a@ﬁmﬁmﬁwmﬁmﬁﬁmﬁmmﬁaﬁqrﬁwmm%;

T R T W v w @ e g

(A) fd (1) & (4) (B) fa (2) 3 (3)

(€ fad (2), 3) afr (4) (D) fak (1), (3) ol (4)
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}/ The Govt. of India in its budget, had announced the pM-KUSUM scheme. Which of the
following is being taken care of by the PM-KUSUM Scheme ?. I
/E:‘-\) Removal of farmers’ dependence on diesel and kerosene nnd!lnklngpumdl? r-.cts*.l]-:}sn artfncrgz
(B) Encourage balanced use of all kinds of fertilizers including the traditional organic an
other innovative fertilizers

(C) Build a seamless national cold supply chain for perishables. iic{ic;usivi;t;r::::l;;meat and fish
(D) Development, management and conservation of marine fishery ‘ .
mm%mmﬁuaﬁﬁﬁwmﬁ.ﬁmaﬂ&nqm?@mﬁﬁmﬁﬁ
fipaml &M T T E o

(A) mﬁﬁwmmﬂmmmmﬁﬁﬂmﬁ:ﬂm

(B) Wﬁﬁawmwwmmmﬁaﬁﬁww u‘rarr\%aﬁqf:w
©) ?ﬂ.ﬁﬁaﬂmmamsﬁaﬁaﬁ%mwamﬂﬂ?ﬁﬁﬁﬁwﬁ &
(D) H&ﬁma‘mﬁﬂﬂﬂaﬁ#, yEeR 9w

7 A proportion of the total deposits and reserves of the commercial banks is to be kept with
the central bank (RBI). Which one of the following represents this ;?roporuon ?
(A) Statutory Liquidity Ratio _AB) Cash Reserve Ratio
(C) Minimum Reserve System (D) Reverse Repo Rate
o @t @ gmn W v e () ﬂmﬁﬂ%mﬂljiﬁwmfm%l
P § & @m0 oEuE & gufar ¥ 7
(A) e avea e (B) &% H9 I
(C) =gem T =aen (D) frd T w

8 A country is said to be in debt trap if :
{A}’/ It has to abide by the conditionality imposed by the International Monetory Fund.

(B) . It is required to borrow money to make interest payments on outstanding loans.
ﬁ It has been refused loans or aid by creditors.

(D) The World Bank charges a very high rate of interest on outstanding as well as new loans.
¥ 3 WA § HE g WE W i

(A) =@ sfTUEm W @ % B AT @ W 9El W AW usar ¥

(B) 30 @%@ TN U A F gHE H G UL S war b |

(C) 30 FvEmeh § T qgAr e & ¥ W e omm g

(D) fava &% T @@ 7@ T W qEA UG A H T G I |

9 In the ryotwari system of land administration___ |
(A) Zamindars took responsibility of collecting taxes
(B) Land owners took the responsibility to pay taxes
(C) Farmers directly paid land taxes to British colonial
(D) No taxes were levied on lands owned by farmers
Aol T g ’

\/yg G L T A 6 e 111 v I P

(B) W TEH @ AT @ o
(€) fr‘mlrj ffrml At wn qoE Y A g
(D) mﬁmﬁiﬁmﬁtmihmmﬁﬁmm

;

Loverniment
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Read the following two statements Assertion

A W "
(A) No Five Year Plan was mage (A) and Reason (R) and choose the appropriate option.

by the Go f India during the late 1960
R) Indo-Pakistan conflict, e ——— o
(R) fep plasiny ict, drought and inflation erased the financi rces required

(A) Both (A) and (R) are true and (R) is the

(B) Only (A) is true and (R) is false and (R) correct explanation for (A)

is not the correct explanation for (A)

(C) Only (R) is true and (A) is false 7o
(D) Both (A) and (R) are false G
fe= 2w aftmes (A) 991 &R0 (R) = w8 P | l
, W) Iﬁéﬁfﬂﬁﬁmmwﬁmﬁmﬁwﬁﬁ %,
(R) 9Ha-T% T, JbM T4 JERRA & areey gory 3 Rie gifea fodig gaem @@ @Ml
/&) (A) @it (R) 3 @6 & @ (R), (A) % w8 amen & -
(B) fid (A) Wh ¥ @ (R) T ¥ A0 (R), (A) @ wh e W {5
(C) fuk (R) wé & @an (A) 799 2| ta.
(D) (A) i (R) ZF Toa &l ZE |
The Kharif crops in India are : ' s;j/
(i) Wheat (i) Paddy (iii) Mustard B
(iv) Gram (v)  Groundnut (vi) Maize !l
The correct answer is : 5\5,
(A) (i), (ii) and (vi) only (B) (ii). (v) and (vi) only [60
(C) (ii). (iii) and (vi) only (D) (i). (ii) and (iv) only .gi}‘;
e § o o aeh @i wa b 7
7%) TE /ﬁﬁ CIE] z@’lﬁ | ] It
(iv) = (v) g (vi) W 0
T T E o =
(A) fad (i), (i) ot (vi) ] W) fk (i), (v) o (vi)
JO T (i), (i) @ (v) D) (i), (if) ST (iv)

This compound is conventionally used for white washing of buildings.
Which of the following statements is / are truc ahnut\i:/./
(1) It is obtained by treating quick lime with water.

(2) It is produced when calcium carbide reacts with water. v

(3) It is one of the raw materials used for the manufacture-of Portland cement.

(4) It is called slaked lime and its chemical formula is Ca(OH),.]

Select the correct answer using the code given below = = =—"

(A)~(1) and (4) only (B) (2). (3) and (4) only

) (1). (2) and (4) only (D) (1), (2) and (3) only

T s UG @ U gar @ ahd & @ o P

s an A B # 4 g ga v E I'EL;LQ/

(1) =% fen g0 gt g3 @ o & fe w0t fe
(2}miﬁfﬁnmzﬁmhﬁuﬁﬁimuﬁﬁm%ﬂ%m“ﬁm%*

(3) ww wrsavs i % Fin & e e AT b ECH g oo
(4) 38 wfEs CRl Fed T oaar guEl mﬂﬂﬁ'ﬁﬁ = Ca(OMH), t

W RA T @ @ oy s wh gat R

(A) faf (1) 3l (4) (B) Tak (2), (3) afrr (4)
(C) % (1), (2) AT (4) (D) Tk (1), (2) afrr (3)



@ In which squadron of the Indian Air Force has the first batch of Rafale Fighter Jets been
' inducted ?

(A) Squadron 17 - Golden Arrows (B) - Dragons
(C) Squadron 6 - Cobras . (D)  Squadron 4 - Tigers & @
Wmm%mmﬁmwmmmﬁwmammmw? !
(A) WA 17 - Tiess T ®) warg 52 - ¥
(C) @t 6 - HET (D) waErE 4 -
14 | Match the following :
(I SCO (A) Trade, Politics and Culture
(I QUAD ) Facilitates economic, political,
security, military, educg_tjnnal

and sociocultural integration

(II1) ASEAN (C) Nuclear weapons
(IV) MAD (D) Strategic forum
Options :

ptions £or

(A) (1) (A), D ©). () B, IV) (©)
B) (1) (D), (I (B), (D) (A), (V) (O
(© (1) (A), () (B), (D) (C), (IV) (D)
©) (@ (C) () (A). (1) (B), (V) (D)

() Sco (A) =T, Tl war g

(I QUAD (B) onfie, Terifis, e, &4,
fvem @an WITTE-wiEplGE T

(Il ASEANs (C) =gfFmaT efmm

(IV) MAD (D) Trifas =Y

[EE T I

(A) (1) (A), () (D), (1) (B), (V) (C)
(B) (D (D), (1) (B), (H) (A), (V) (C)
(C) (D) (A). () (B), (1) (C), (V) (D)
(D) (D) (C). (1) (A), (D) (B), (IV) (D)

5 On 11" February 2020, World Health Organisation made an official announcement of the name
'Covid-19 Virus' for the new coronavirus that has led to the recent pandemic. This was f\;;.

communicating to the public and is not intended as replacement fi : :
- T : or the offic /
of the following is the correct official name : tal name. Which

(A) Human coronavirus 229 E (HCoV-229E)
(B)/ Middle East respiratory syndrome coronavirus (MERS-CoVy
) Severe acute respiratory syndrome Corona Virus 2 (SARS-CoV.2
(D)qﬂlll—;mun coronavirus 0OC43 (HCoV-0C43) )
I 2020 @ fasa @R wIe A wEEE —
.3ﬂhmﬁ$mﬁ.§é‘ﬁhz—lqﬁmu'w&mw?m$@m. ® T B
stz T @ T Fef & 8 A T ot T
(A) T wTEEETE 229 E (HCoV-229E) ;
(B) faiEa fw vmyd fus adeEmm (MERS-CoV)
(C) Wi nwp Tzl e @ 2 (SARS-Covid)
(D) T FEAEET OC43 (HCoV-0C43)

211D 6
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With reference to the latest notification jn ~ N |
scheme, consider the following statements I“:’Iamh 2021 6n Overseas Citizen of India (0oCn

(1) OCI can purchase agricultural land

g ggi . s . t-hr pmfe-s:]:] . Q.f,dm‘“’? advocates, architects and Chartered Accountants.
needs special permit 0 Visit any greq ; . .
prohibited by the Central Govt. or CUmpﬂ;:tlzg:ﬁnr;g:ﬁed

[} (]
(4)  OCI can undertake any research’, undertake any 'missionary' or ‘journalistic' activities.
Which of the statements given above is/are correct ?

as protected, restricted or

(A) (1) and (2) Only (B) (2) Only
(C) (2) and (3) Only (D) (4) Only
T (OCH A W A, 2021 ¥ wrfy wdhaw ofrgen % @t ¥ Preffaa

Lﬂiﬂ'-t'l‘-‘l"{fa'ﬂ"l'(ﬂﬁﬂﬂ"?.:
(1) OCI gft uf @le @& & |
(2) OCI fafres, wftewn, Trgle 90 99 emez &1 da o= @@ & |

ﬂ(omﬁmﬁﬁmﬁ%hﬂﬁmwﬂrmﬁqhﬁﬁmmmmaﬁﬁr&m
g o Preftm @ il &3 Oiftm fear &

(4) OCI fdfr o arpaam, felr W Pomlt a1 i ofafafy & wriw &0 @@ar ¥
Iqha A A B W | B HYT g9 € 7

(A) 6 (1) @t (2) (B) fuk (2)
@) @ (3) _ (D) fab (@)
fith-reg formation Technology (Guidelines for Intermediaries and Digital Media Ethics

Code) Rules, 2021) consider the following statements:
widelines are for Over the Top (OTT) platforms only

(2) It has the Code of Ethics and Procedure and Safeguards for the intermediaries (as defined
in the guidelines)

(3) The Ministry of Information and Broadcasting, Govt. of India shall formulate an oversight
mechanism.

(4) The rules require intermediaries to set up a grievance redressal mechanism.
Which of the statements given above is/are correct ?

(A) (1) and (2) only (B) (2) only
(C)__(2). (3) and (4) only (D) (4) only
il TREAET B sehirat e fefvem dfvw shtew ww) fae, 2021 & wof

| Pr=fafag wae) ot faar #ifa -

(1) TrEmET wEw aaw g 4w (OTT) wewr & R #
(2) e Pl (recifeato) & R Afiar & B TA0 ARIeR 7 dewd R ¥

(Fren fr TEsemEw A wfonta &)

(3) wmm@mmWﬁWW@mﬂﬁEWWM|
(4) frdiferdl @ Pt % qea, Rrema Fewe @ @G ST E )

ST R T wed & @ dmea | @d w8

) A (1) e @) (B) R (2)

) R (2), ) o @) (D) s (4)
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Consider the statement : I No outiTTranspor
“India wants Chabahar port to be included i the 13-nations Internatio 5'3‘5

Corridor (INSTC) that extends from India 1o Russia”. c

Which of 'the Mllowing country/countries is/are member of INST
‘X; s (2) Iraq

3) China (4) Mong{)]]a

. e=H | ‘
(S:tljcct(]li;euzgrect statement using the cgc([pi]g,(‘:}n a{t;c)w:nd ) only
(C) (3) and (4) only “-':; (D) (1), 3 and :(4)
P @ ot femm @ifao = INSTC) i s
ST B T B A G A, 13 46 3 oievcieia www 2t Teard (
T W FW % frga ¥, wEd e fem oo
Frafafaa Son3st & € @9-9 INSTC & weey & 7

(1) & Vil 2)

@) ¥ (4) e

Wﬁqmﬂﬁgﬁiaﬂﬂﬁﬂﬂﬁﬁtgﬁqd:

(A) fid (1) @) fird (2) ot () ,

(© fk (3) oirt (4) @) (), ) of (@)

Which country has, "The News Media andDigital Platforms Mandatory Bargaining Code" ?
/ (A) United Kingdom O (B) Australia

(C) Canada 1 (D) South Africa

e I A T 7w D s Rfvew wewnd 2l qromT B ¥ 7

(A)  gEes fren (B)  arreferan

(C) wwm=r (D)  =fequr arsresT

Atal Tunnel, named after the former PrimeiMinister Atal Biha
and Leh, is built on which range of the (Himalayas:

(A) Northern Pir Panjal range L& (B) Eastern Pir Panjal range
(C) Western Pir Panjal range | (D) Southern Pjr Panjal range '
mqﬁﬁsﬁsﬁmqﬁumﬂﬁsﬁmm_{mﬂsmﬁquaﬁ 1) R @
o @ o o h ¥ 7 &

(4) Tl 9T e SEen
C) ufterdt dr dume sfwwn (D) 2t $ oy sy

1.9 km long Maitri Sety connecting Tripura and Bangladesh over river Feni
Choose the correct statement. :

ri Vajpayee, between Manali

has been built,

r-:T'E
(A) The bridge is between Sabroom in Tripura and R :
gl g, amgarh in Bangladesh
(B) The bridge is between Ramearh T . - )
g mgarh in Tripura and Sabroom iy, Bangladesh

(C) The bridge is between Kailashahr in ripura and Cp;
X : = 1t i
(D) The bridge is between Chittogram in -g'ripura and K seram in Bangladesh

B0 & aremer & ded amn S o w19 ~ Mailashahr in Bangladesh
W FE E T g ) W-WW%WW%I
(Mﬂﬁiﬁfﬂwﬁwamahaﬁwﬁmﬂ;ﬂa%
3) “Eﬁﬁ%ﬁmamaﬁvmrﬁim%m%
(© Wﬂﬁﬁgﬂﬁﬁmsmamﬁhmwﬁ&mm%%.
(D) 5% 5 B0 & ooy en it  remomer &

211 D R



Bajrang Punia has regained the "World Numpe, ’
2021 after winning which of the following 2

(A) Asian Wrestling Championship in Neyw Delhj

B) United World Wrestling Individual W4 Cup in Belgrade

(C) World Wrestling Championship in Nur-Sultan K azakhstan

(D) Matteo Pellicone Ranking Series %’}Hﬂamem in Rome.

mgﬁmﬁﬁqmﬁﬁﬁmw;ﬂ‘ﬁmzl ¥ 65 fpm. @ ¥ fagg @ T 1 X

(1 e O

(A) 7 Rt ¥ oimem Feh fwiEr

(B) awie ¥ gmEes aw W I o gy
\/‘d T e, weEe 3 fad e whfe

O)f ¥ ¥ wish ifr o Wi e

ranking in the 65 kg category in March

b

23 Consider the following pairs :

Key Initiatives ~Purpose of Initiative
(1) Mission COVID Suraksha Ip accelerate development
' L.of COVID vaccine _
(2) CAWACH T provide protection to frontline
“Workers
(3) Vaccine Maitri “Tndia's vaccine diplomacy

that supplies a Made in India
COVID-19 vaccine to other

countries
(4) COVID-19 Shri Shakti ~f COVID-19 solution challenge by
Challenge ¢MyGov in collaboration with

 Women World Banking

Which of pairs given above are correotly! stated ?

(A) (1) and (2) only O B (1) (2) and 3) only
(C) (1) and (3) only (@) (3) and (4) only
Prefafas Wit ox frame St
T TEER AR F WA /

Fifre R & fww @ it v wen |

), wag e A%E @G W & 1

) A Cwir @ dedE fErd @ Tl
LRe-19 JWE e A @ omyfd @ ¥

4) FfE-19 dofm fs-19 B TE T TR @R
f._lfl 'qﬁ-'.ﬁ'[ i “

ERin] t_;_x?ycov AL _Féwa afm @

gedm @ wE T E |

A e S e

(A) fad (1) T (2) firs (1), (2) @ (3)

(€) fak (1) st (3) (D) fak (3) siT (4)

211 D 9 Next Page P




24  Consider the following statements regarding fepsing Plains.
(1) It is formed by fertile alluvium soils,
(2) The plain is found at the higher altitydes.
(3) It is covered with dense coniferous forests.

Which of the statements given aboye is/are correct ?
(A) (1) only

(B) (2) only /
and (3) only (D) (2) and (3) only J/
wad ¥ Prafafead s v frare BiRm | ¥
(N TS W MR A w b w
(@) A %eF = g () T A ¥ g oo ¥ p
(3) &ms@aﬁaﬂ_ﬁﬁ%tl ‘ # (}\
B e S T T w
(A) fak (1) (B) f&h (2)

M (1) &t (3) (D) fak (2) & (3)

25/ Match the name of Slash and Burn agriculture given in column | with the state / region in

column Il
Column 1 Column 11
(1)  Jhuming (a) Odisha
(2) Khil (b) South-eastern Rajasthan
(3) Bringa (c) North-eastern region
(4) Valre (d) Hi_:lail_zlyan Belt
(A) (D), 2)-(b), B)(c), ()-(d) (B)  (-(e), (2)-(d), (3)-(a), (4)-(b)
(©  (1-b), @-(d), B)a), @) @) (14d). @), ()(b), (@)-(a)
ﬁ‘fﬁﬂfﬁﬁﬂfﬁﬂ@ﬂ@ﬁﬂﬂﬁhﬁilﬁ@'ﬁﬁ;ﬁaﬁmﬁﬁq|
Eau | Fem 11
(1) s (a) aifEsm
(2) fam - (b) =gl T
(3) PRrm (aftm) (c) wal-gdi dm
(4) dmwe (d) fomem o
(A) (D-@), @-b), B)(c), (@)(d) B) |, (10). @)d). (3)-(a). (@)-(b)
() (1)-(b), 2)-(d), (3)(a), (4)-(c)

OF (). @-©). G)b). (@)-(a)

.
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(A
) fug
| D

Which are the northernmost, southernmgost ea
3

India in this order with no internationg| bo Sternmost and westernmost landlocked states in

) rders 7
(A) Himachal Pradesh, Tamil Nadu, Assam, Gy i
» Uljara
(B) Haryana, Andhra Pradesh, Assam, Mj dhya :’rad : l ' Q
es

(C) Himachal Pradesh, Kerala, Mizoram, Gujarat
(D) Haryana, Telangana, Jharkhand, Madhya prq desh

famr ereticdi el 9, WOE T O g ;
AP mwﬁﬁw@,@.@am

(A) fomaa Wiy, aivewig, of@d, Tedd
(B) 7 | T WE9l, oW, W WAyl

femrare e, v, s, 0
() wiemn, S@m, [eEs, 98 ga

Which of the following is NOT a major river basin in India ?

Pennar -~ (B) Mahi |/
(C) Teesta , (D) Sabarmat
Prefefa § & ®FE Wd & IE 6l AT T8 8 [}
(A) =R (B) =

A (D) HETT

Which of the following statements are correct about Jhelum river and fluvial landform ?
(1) Jhelum flows in the valley of Kashmir in its youth stage.

(2) It forms meanders in the valley of Kashmir.}/
(3) Meander is a typical feature associated with the youth stage in the evolution of fluvial

landform.
(4) Meander is a typical feature assqgiﬂ_tfi_i_ﬂith the mature stage in the evolution of fluvial
landform.

Select the correct answer using the code below :

(A) (1) and (2) only (B) (2) and (4) only

(C) (1), (2) and (3) only (D) (1), (2) and (4) only
e A a ‘ﬁiwﬁwﬁﬁﬁr@ﬁ_fﬁﬁﬁmﬂﬁ ?
(1) i FeAT a@ § garen § TR €

(2) T wPC T F fraret @@ ¥

() e T g T @ gaEen ¥ T A @ g

(4) Prarzt um G koA A8 @l (i) oftgE el § adl @
et W8 &y @y af wEt @ 9 &

fa (1)

(3) frk (2) sl (@)
(D) fuk {2.-__[2] AT (4)

;
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31

Which of the following represenfs Gandhara Schoollof art ? i
(A) Bamiyan Buddha hisattva Shakyam

(B) Bod

(C) Sleeping Budd (D) Rhumisparsha Buddha
ﬁnﬁf@aﬁ%aﬁ?@_ﬂﬁrmmm% ?

(A) wfEm g2 - (B)

(C) ¥/ 3T gz ftrerst 98

Match the following :

Embroidery State

(a) Chikankari (1)  Bengal
//(b) Kalamkari (23 —Lucknow

(¢) Kantha (3) Karnataka @

(d) Kasuti (4)  Andhra Pradesh

(A) @-2), BG) ©-(1), (d)-(4) B) (@)-2), (b)) - (d)-6)

(©)  (@)-2), (b)-(1). (€)-(3). (d)-(4) (D) (@)-4), (b)-2), (©)-(D). (d)-3)

'gualﬁ"ﬁ Iy

L4 i
(a) Fowmal © ———(1) =m
(b) wEHH ——— (2) wET®

(c) @i ‘. (3) @S
d) w7 > (@) ety W
(A) (a)-(2), (b)-(3), (e)-(1), (d)-(4) (B) (a)-(2), (b)-(4), (c)-(1), (d)-(3)
(C)  (a)(2), (b)-(1), ()-(3), (d)-(4) (D) (a):(4), E}l-_‘{z)q (c)-(1). (d)'(j
Match the following :
Dance Form State
(a) Bharat Natyam (1) Uttar Pradesh
(b) Kathak (2) Tamil Nadu
(¢) Kuchipudi (3) Kerala
(d) Mohiniyattam (4)  Andhra Pradesh
(A)  (@-1), (®)-(), (©)-2), (d)-(4) (B)  (@)-2), (b)-(4), (c)-(1), (d)-(3)
(C) (@)-(2), (b)(1), (c)-(4), (d)-(3) @) @-4), 1)-2), (c)-(1). (d)<3)
gt @i
Eol R
(a) W@ TEH - (1) =@t waa
(b) wE TNg2)
(c) Flagel . 0) ww
() AR (@) aw W

A)  (a)-(1). (0)-3). (c)2), (d)-(4)

(B)  (@)-(2), (b :
%(a} @), (BH. (). W6 D) ®-(). (@)-(1). @-B),

@-(4), (b)-(2). (e)-(1). (d)-(3)

'

i ’



ﬂi{:h of the following statements a1"5‘&11:1'::111 washing sod

. ' ! ] ashing soda ?

(1) Its chemical name is sodium hydroge : e

ks, — gencarbonate and jts aqueous solution is basic in

I cheanieal mame iz Sodiis: eacbonato g, PH of its aqueous solution is more than 7. /

/)?j It is used for raising of cakes while baking.

It is used for the removal of permanent hardnegs of water””

Select the correct answer using the code given e : NC“H 0}
(A) (2) and (3) only ?‘J \_/(’B(((z}/and @) onl -
(© (1) and (3) onlf N (D) (2), (3) and (4) only /(),Uu?/
ﬁrﬁrﬁrﬁa?ﬁmaimaﬁffﬂﬁ%? | Rt

(1) o TR TS T TEEEEE ¥ a1 qu o fowd arig wahn @ ¥ |
(2) T TEERE AW AR BEME ¥ T W i faee @ pH A 7 @ o B
(3) wE Abm A Fm B AW A B AW R

(4) TE A B e Al @ TN A EH o § |

S e T A W v a0 @ ot 9he -

(A) Rd (2) ot 3) (B) ik (2) ot (4)

(C) fad (1) st (3) (D) f&& (2), (3) T (4)

33 The substances with pH less than 7 are : -
ﬂ] Gastric juicc% (2) Coffee }O
/(j) Apple juice (4) Liquid in the car battery
(A) (1) and (2) only (B) (1) (3) and (4) only
© (1), ) and (3) only (D) All of these %
pH % 7 & %9 a1 wEd ¥ - 2y 1% [ﬂ“"'3
(1) smnga @ (2) @ ) . Lo
(3) @@ @ ™ (4) T w A B T KI
(A) faf (1) &t () }0 _,(M/i‘% (1, (3) @)
© fad (1), (2) 9T (3) () = s
\p o U\ A
34 The best electrical conductor among the following 1S
(A) gold (B) copper
(C) aluminium (D) silver
frer & & wed Suge fage o & -
(A) @ (B) @i (afn)
211p E |



: wing stateme
5 The depth of a sea can be determined by using onslder the following statemeny,
about, it :

Ly/lt uses ultrasonic waves for measurement of depth ofi F% hat of sound in aj
i i ' that of s ir.
(2) The speed of ultrasonic waves in sea water is the same a5

i of the sea to reach {
(3) Time taken by the ultrasonic waves reflected from the bottom he
detector is used to measure the depth.

Which of the above statement(s) is/are correct ?
(A) (3) Only " (1) and (3) Only
(C) (2) and (3) Only @) (). (2) and (3) Only

Wwﬂmmﬁ/gmmwmmﬁhﬁ%aﬁﬁﬁﬂﬁlﬂﬁMWmﬁ

Hfa -

() Eﬁiﬁﬂm?ﬂ%mﬁuﬁm@#ﬁmaﬁﬁmaﬁﬂmtl

(2) Wﬁﬂﬁmﬁﬁmﬁmmwﬁaﬁﬁaﬁa%mﬂmh ‘

(3) Wﬁmﬁﬁaﬁwmﬂqﬁmsﬂ*wﬁﬁaﬁﬁﬁﬁmmm
I ggE @ TETE & WA H far amar &

Sriw ¥ @ sEEET & s wd i

(A) fE (3) ®) fas (1) T Q)

(€) f& (2) o () @) fad (1), @) T (3)

36 Match the diseases listed in Column 'A' with their symptoms in Column 'B' and select the
correct option.

Column A Column B .
(i) Typhoid fever (A) Persistent cough, low grade fever and loss of weight
(i) Cholera (B) High fever, stomach pain, skin rash
(iii) Tuberculosis (C) Fever, loss of appetite, red spots or scabs
(iv) Chicken pox (D) Rice water stools, nausea, vomiting
Code :

(A) ()-(A), (i)«(B), (ii)-(C), (iv)-(D)
(B) (i)<(B), (i)-(D), (iii)-(A), (iv)-(C)
(C) ()-(C), (i)-(A), (iii)~(B), (iv)-(D)
(D) ()-(D), (i)-(C), (iii)-(A), (iv)-(B)
ﬁmAﬁﬁﬂﬁﬁﬁﬁmBﬂﬁﬁﬁﬁwﬁ%mﬁqu@ﬁwﬁgﬁm

Fie| A Feq B
(i) TEEES TN ) W BT T T, qgT I T
(i mw}%)hmfh#.mwmw F
(iii) zgatagetea ©) F8W, 9@ T T, AW o @ gy
(iv) & AmEr (D)  aEe-Saaq 7, s s TE
e - ® |

(A ()-A), (HB), Gii)(C), (iv)(D]ND
W ()-(B). (ii)-(D), (iii)(A), (iv)(C)
(€ DO, A (iii(B), (iv)(DyP

(@) [D-(D). (D-C), (iiy-(A), (iv):( B

21D o [RexiPage)



37

Plastic Bags are a potential hazard to

the eny;
describe this ? fonment. Which of the following options correctly

(A) They are light in weight and hepce caus
(B) Toxic chemicals are used in their produ
(C) They are non-resistant to heat
(D) They are non-biodegradable
dmjafrai e % Req Wer i ¥,

) &m#mﬁ@ﬁriamﬁiﬁgqmmf::ﬁzmﬁﬁﬁm“
AB) ¥ sar ¥ fawem @ B oswEm w3
¥

¢ NMuisance by flying
Ction

A patient suffering from stomach pain and indj

gestion was advised by th
probiotics. The probiotics help to A gauied by Qe deoor o il

(A) increase the effects of medication.

(B) kill harmful bacteria in the stomach. : / M
(C) provide the beneficial bacteria for healthy digestion.

(D) decrease the acid secretion and increase the enzymatic activity.

Tz o 991 oY & Us Al & fafhes TERiiees o9 @ auw 3o &1 iR wee ow E

(A) Tameli & W9E & 8 o |

(B) W= ¥ wfaRa SiEmE & Ao ¥ | C’TW
(C) vwraw fran & @ryads & & fau o framvel & den & den § |

(D) ord W @ %9 & U9 Tgd @i fhd & 98 ¥ |

Doctors recommended Real Time PCR test for COVID 19 patients. This diagnostic test detects

;-F- (B) protein of virus
W (D) specific antigen of virus

40

faféses COVID-19 i F1 faw zrEw PCR 3® & @t fawiiy &wd ¥) 7% dafe qhew
qar wmar i

(A) qof @ifgg am@T@ & (B) AW & W @

(C) =™ % RNA @l (D) =aw & fifre i @

The famous Nubra valley known _for its orchards vistas, Bactrian camels and monasteries lies
- e
between the two mountdins ranges of :

(A) Karakoram and Zanskar (B) Zanskar and Ladakh "
(C) Ladakh and Pir Panjal (D) Karakoram and Lada

T, mmﬂmﬂﬁw ¥ & g sfmenalt & wer Rua ¥, @ 6 E -

A) @A adq AT () ST B R
TSI 41 3316
(C) wiger@ qdr dredee } HITDHICT 0
i & Next Page



[ndia :
Given below are the Jocations of four archaeological sit€s in

hom
(P) Attirampakkam, (Q) Bhimbetka, (R) Piklihal, (S) Burzd from N
rth
Which among the following presents the correct order of their locations from RO to South 7

(A) SQPR (B) QRPS

(C) QSPR (D) SQRP %8—(/
(\ Sryewra % a0 guatew @ R E

(P) sy, (Q) wmaeEl, (R) fufed,, (S) qofem

: ﬁﬁﬁqmﬁmmmwﬂwﬁﬂﬁﬁﬁ"m%?
(A) SQPR {BJ QRPS
(C)—QSPR SQRP

d during the 18! century in connection

42 Which among the following is a term that emerge : :
ntract by which the revenue of an ares

with the Agrarian system which basically ‘meant a €0
was farmed out to the highest bidder ?

(A)=i'Patta (B) Qaul
{cj\TTashkms (D) ljara
ﬁﬁﬁﬁﬁ@rﬁﬁ-ﬂm lﬁamﬂﬁgﬁmﬁwmmmmm@ﬁ@u
ﬁmﬂmmﬁrmmaﬁmﬁlaﬁ&mmm ?
]!__aqEI (B) @
(C) @ (D) s=ma
43  With reference twn, which among the following options is connected
to the features qf Mansabdari System !
(Aiqizat Sawar (B) Barkat, Fana
(C) t:‘,Namus Din (D) Peshkash, Nazr
. e & wed #, Fretfen § & s e aeeed g faduael & ddfta 7
(A) Cwm, X (B) @%@, Al
(C)mE, (D) s, T

44  In the context of Land Revenue Settlement of Colonial India. Which©
is NOT correct ? —

(A)_ In 1790, Lord Wellesley introduced the Permanent Settle fi Bengal Province.

(B)- iU"dﬂr this. the Zamindars were recognised as the owners of the entire land in 1he11'
. Zamindaris.

(C)—It made right of land ownership hereditary.
(D) OZamindars were given the right to sell the land. k- |
f’i"‘f"‘ﬁ%w%‘lﬁrw ﬁwﬁfﬂaﬁﬁﬁaﬁqmwaﬂqﬂt
(A) V19 3% qré &l 3 e wia 3w ddme amp e )
EAL] s
(B) mwﬁmﬁmﬂﬂ@mﬁmamﬂmmﬁf :
[Wﬁﬂﬁ #l aa"TTﬁ FaT L .'_""'-—--.____,_oi""i"
® mwﬂ’i‘ﬂ"tmmﬁrmi’ﬂTWI

'lzgi' 16
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45  With reference to Medieval Indian History hat does P " .
: : - : s 'Piet ' ?
(A) Tt was a type of textile design prevalent iy Dec:’ﬁ llifﬂ_to ?

(B) Coloured, hard stones placed in depressi
38 =
beautiful, ornate patterns. Prvstions arved lnto. rmarble: or sandsienscreating

(C) A variety of musical instrument playe - .
(D) A kind of coloured photograph h?g;g;il l::;:glr::u%:u:h:ehjjlnhgaF:::::;
Kﬁwwmfﬁmﬁﬁ‘ﬁw{m-mﬁﬁhﬁ_%? 8 :
A) % A ¥ vafed U6 9@ feemE '
ﬂﬂ?ﬁmwmﬂ@w@wﬁhwmﬂwmﬁm
©) T fw @ T A T W o 5 am
(D) T TE @ T @K @ HE ¥ T @ § @ o

46  Arrange the following cases related to basic structure of Constitution in chronological order.

() Minerva Mills Case N <I SN S
(I) Golak Nath Case N
() Indira Gandhi vs Raj Naraiﬁi
(IV) Kesavanand Bharati Case D

(A) [I=1I=1=1V — (B) U=V

©) 1=1I—=1—=1V D) U—=I—=1=1V

P % P R W P A @ e dta
() foat foew wwer -~
an e o it
I R L d s B
(V) FyEmR O W o O

(A) I—=HI—=1=1V A6 =1V

€ I1=11=1=1V "-13: @) N=1=1=1V

rtion (A) : Financial bills can be introduced only in the Lower House (Lok Sabha).
Reason (R)  : Lower House (Lok Sabha) is directly elected by the people.

(A) Both A and R are true and R is the correct explanation of A

(B) Both A and R are true and R is 0t the correct explanation of A

(C) A is true but R is false O\
(D) A is false but R is true O
W(A}:ﬁﬂﬁmwwwﬁﬁﬂwﬁ%|
A Praffas gLt |

(R):f’ﬁmw(ﬁmm;mmq,maﬁn
‘é?Aaq‘nRaﬁfw%’mR,Aaﬁ(a'ﬁ,w%i
(B) Amﬂaﬁmﬁamn,aa%mwﬁtl

(C) A §d & fg R omd #

(D) A o@d ¥ feg R ad ¥
L

211D
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(A) Preambl (B) Directive Principles of State pyjjc,
rcamoice

+ undamental rights
(C) Fundamental Duties (D) Fun Pt % .
: I g Wm0 @ '
Wﬁmﬁ%wm@m W{B)maﬁ\ﬁrﬁ%mm@a‘w

T (C) i e A () e s A

49  The terms Liberty, Equality and Fraternity used in the Preamble of the Constitution of India
are inspired from which revolution ?

(A) Russian Revolution (B) Chinese Revolution

(C) French Revolution (D) American war of independence
Wi & dhaue @ wEET ¥ g @, s @ agd 9= e wifn § i g
(A) 9 & % (B) @1 wifd

(C [ (D) Sl e A

50  What is the name of our country as given by the Constitution of India ?

(A) Hindustan that is Bharatavarsha (B) India that is Hindustan
(C) India that is Bharat (D) Bharat Desh that is India
W@ % Wieaw ¥ W g 9 & Am owm ¥ 7

() frgem auf v (B) e sty frgwm

C) dfem waig Wi (D) wrw 2w drafq_sfean

51 In which part of the Constitution of India is mentioned the promotion of international peace

and security ?

(A) Preamble to the Constitution

(B) Directive Principles of State Policy
(C) Fundamental Duties,

Fus . (D) Ninth Schedule
mmaﬁmﬁeﬁﬂtﬁmmﬁrqﬁwﬂiﬁaﬁﬁmaﬁamwﬁ%?
(A) @fgart @1 v 3) T & Ay fdas o9
(C) +ifers wdea (D) #f@fw

52 Under which Article, can a

: ny citizen of India mové di : . s C of India
for violation of any of his Sleectly to the: Supreme. Cou

/her fundamental rights ?

(A)  Anicle 32
; (B) Article 35
C) Articl
1{%5; '“; 1;3 . (D) Ninth Schedule
mmﬂi"“z? 7, maﬂéwﬁmmrﬁmmﬂ%mﬁwﬁﬂﬂm“"“_“”

{A] .3]‘3333 2

<'—""-_,—-
B)
211D 18



53 Match List T with List Il and select
List 1
(a) Recognised Languages

the se
Sequence of correct answer-
List 11
(1) Fourth Schedule

(b) Anh-Defectlon' o (2)  Tenth Schedule

(c) States :j.nd Umcm- Territories (3)  Fifih Schedule

(d) Allocation of RajyaSabha Seats (4)  Eighth Schedule

(¢) Scheduled Areas and Scheduled (5)  First Schedule
Tribes

Sequence -

(A (a)(1), (0)-2), (©)-3). (-4 (©)-(5)
(B) (2)-(5), (b)-(4). (£)-(2) (d)-(3). (e)(1)
(C)  (a)-(@), (0)-(2), (©)-(3). (d)-(1); ()-(3)
(D) (a)-(4). (b)-(3), (©)-(1), (A-2). (€)-3)

T 1w g I F fr S T TSR @ e gl

w1 T 1
(a) wEETE AT () =i aear
(b) zw-gaw faddr HET (2) =l erEE
(c) g Ud HEenfEd WA (3) wiwdl e
(d) TegEar @ HIE @ arEe (4) omEEr gl
(¢) orgyfaa &= qar orggiEd (5) weedr SrgEEl
ERElGe
GHEF‘-‘I:

(A) (@1, (b)-(2), (c)-3), (d)-(4), (e)-(5)
(B) (2)-(5), (B)-(4), (c)(2). (d)-(3). (e)(1)
(©) (@, (0)-2). (©)-(5). (d)-(1), (e)-(3)
(D)~ (@)-(4), ©)(5). ()-(1), (d)-(2). (&)-6)

54  Which one of the following is the correct chronological order of the conferment of the full
statehood of the Indian Union ?

(A) Sikkim - Arunachal Pradesh - Nagaland - Haryana

(B) Nagaland - Haryana - Sikkim - Arunachal Pradesh

(C) Sikkim - Haryana - Nagaland - Arunachal Pradesh

(D) Nagaland - Arunachal Pradesh - Sikkim - Haryana

b % @ wrcha W A g T % o W W O T SR T g § -
(A) FafrpT — SreVITW WA — A - e

(B),//mies — ghamn — fafw - anenEe W ||
/{ﬁﬁﬁfﬂ—z&w—m—mﬁmt
(D) qﬂﬂﬁz—mﬁwn&ar—fﬂfﬂﬁq-“&'ﬂm?@

i :

—



'Classical Lan
5%  Among the following languages, which has/have been declared 85 Clas guage /

(1) Malayalam 0D* Kaneadi
(iii) Telugu (V) Tamil -
(A) (i) and (iv) only ) Tami B) (i) and (ill)bﬂr:rLY
(C) (i), (iii) and (iv) only () All of the abo _
ﬁﬁﬁﬁﬁﬁ%ﬁﬁﬁﬂ?—ﬁﬂfﬂmaﬁﬁmmﬂm@qmﬁ’ b
™ % 7
(1) WTFITI (i) @
(i) Y (iv) afm
(A) fa% (i) oK (iv) 3 (B) Rl (ii) 9T (iii)
(C) fak (i), (iii) T (iv) /pf cerica Al
A Which among the following is known as 'Vi.rodhi Kavi' or the 'Rebel Poet’ ?
(A) Suryakant Tripathi Nirala (B) Kazi Nazrul Islam
(C) Sumitranandan Pant (D) Mohan Rakesh
Frafafaa & & fse Froed of w9 9 & 2
(A) gdw Frrdr fren (B) @ THEw g
/(1:) ditemra v (D) wreT THA
57 In which of the following place/places are the famous Ashokan pillars found ?
(i)  Sanchi (i) Sarnath
(i1i) Lauriya Nandangarh (iv) Amravati
(A) (i) only (B) (i) and (ii) only
(C) (i), (i) and (iii) only (D) All of the above
Prefefaer & Row weferd o ool & wmw-o o § 2
(i) @ (i) "
(i) @ifar s=me (iv) smTEdE
(A) fad (i) (B) e (i) i (if)
(©) fak (i), (i) s (i) ,mr/ Sl
3 Who were the chief painters of the Hamza-nama under Akbar's order ?
(A) Bihzad arufi Mulla Dust Muhammad  (B) Daswanth and Basawan
(C) Sayved Ali and Abdas Samad (D)  Manohar ang Bishun Das
HHET & AMeYl & dEd EHAEE & wqE fasert &9 & o
(%) ﬁﬁvmﬁﬁ&ﬂgﬂ N e (g‘n LEIEE I C—
C) @ SEE S D) T i fagr g
59 \Which language was used as the official languag " Satavahana Ao /
A)  Sanskrit B)  Prakeig ana Age 7
(C) Telugu i \ (D) Tamj| /
qraea &W 0 @1 T ﬂﬁﬁi‘lﬂf&mamm?
(A) Hepd e (B)
(C) LY (D) aftg 8

20
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62

03

B

64

(A) Amri culture
(C) Kot-Diji culture
frafafag & 4 sF-8 wie s @l TG ¥ 2
(A) &l d@efa (B

(C) @re d&h ﬁ@l%r// s

Who led the English Company's Embassy to Emperor

(B) Sothi culture

@ hich among following is NOT a proto-Harappan Culture ? (\
(D) Zhob culture /

wepft

g k.

Farrukshiyar court ?

(A) Thomas Roe i
(C) Robert Clive Eg)) ﬁ]eh’:]d&ﬁ;r;iler
fegt weairat & wan § fan & & w1 dgw fpa 7

) amE (B) e sitfistat
(C) T=E TR (D) =i gom

Which of the following is incorrectly paired ?

|

(A) Ramosi Uprising : Chittur Singh, 1822 (B) Santal Rebellion : Birsa Munda, 1899

(C) Rangpur Uprising : Dirjinarain, 1783 (D) Kol Uprising : Buddhu Bhagat, 1831

Frefafes & & @ gm oa gifoa § 7

) i Rte : Rrqe Rie, 1822 (B) wam i : g, 1899,

(C) Ty fa@e : fexsimmoae, 1783 (D) @i foge : gg W, 1831

Which of the following statements about the [Ahrar Movement' hre true ?
(i) One of its founders was Maulana Muhammad Ali.
(i) Its members advocated active participation in the Indian National Movement.
(iii) It was founded in the early decades of the twentieth century.
(iv) It supported the loyalist politics of the Aligarh Movement.

Choose the correct answer :

(A) (i), (i), (1v)
FEOT SEET % ax § P ¥ ¥ de-a1 &uT 9 & ¢

@) (). (). (i)
B L L B © @, (). G

(i) e R o Tan e § ¥ @ 417

(i) za% wa@i ¥ WA @ siee § g

nHii) ) o 209 w6 F yiw e A g A |

Wi @ 9Eea @ |

(iv) mﬁaﬁmaﬂa’m%w&aﬂﬁwﬁﬁﬁ‘!ﬂ‘fml

TE wAT HT TIT B
(A) (i1). (iii), (iv)
(C) (i), (i), (iv)

Arrange the chronological order of the Sufi saints :

(B) (i), (i), (iil) —p
(D) (@), (iv), (i)

: . . Sy . ii)  Shaikh Muinuddin Sijzi
E:gi) Ez;gu;’:;rd CERpes Eiv) Nizamuddin Aulia

Ch tl :ct chronology : I "

A Gy, @, G 6 (8) (). Ui, (v), ()

(©) (i), Gii). (). (i) (8] . i Gk L

w““(ﬁ AT f e () da geghr foe) i
(i) @@ HhE (iv) g

& W @ 99T &L

- FEERNNP LTINS 0 W £

)

}t/c

7
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66

67

Who assassinated Stevens, the Disirict Magistrate of Tippera
(A) Kalpana Datta and Suhasinj Ganguly

(B) Pritilata Waddedar and Kalpana Datta

(C) Santi and Suniti Chaudhury

(D) Bina Das and Basanti Devi

1931 % frdw (Brge) & Foen wfe <ew @ e fow A7
A) HE T AT GErE T

(B) Wifteren @ oiX T

(C) @ ol gefa el

(D) 4 @@ ot g & 7

Which dynasty ruled in the region of modern Haryana at the tim
(B) Parmara Rajputs

(D) Kacchwaha Rajputs

(A) Tomara Rajputs
(C) Chauhan Rajputs
T AT % e gt shamn ¥ a9 § fee dw & T e
(A) dma T (B) WRAR TS

(©) ﬂ‘rmm'{af (D) we3arE TogE

Which statements are correct about the Bhakti saint Namdeva ?
(I)  Worshipped Vitthal of Pandharpur.

(II) He was from Gujarat. / ! ""f l
(111 He was a son of a tailor. P t’?l /
(IV) He wrote many Abhangas.
19
T

Choose the correct answer :

(A) (D, (. (), av) (B) (1. (1. (V)

© ® W, 4w | D) (. (1. (1§
ﬁﬂmﬁﬂﬂ?aﬁtﬁnﬁﬁ-ﬁaﬂmw*ﬁ? ‘71?

i i
M 3 gt % faga @ A

ay & e d A
iy awd E W
avy vt

‘. o (By (. (., qv
. aD: - (V) & o ) (V)
M : 1), (1V) (D) (. an. an

(Tripura) in 19317

e of Ghaznavid invasion ’



ye
{

o) @@ () @ (iii)
- [ResPage P

Which social reform organization was founded in Bom
It became popular after M G Ranade joined the organization.

(A) Dev Samaj (B) Brahmo Samaj

(C) Prarthana Samaj (D) Servants of India Society

93] 9% Bo |
(A): X Y B) e w3
(C) widar T ) st g drTed

Which of the following pair of writers and books in ancient India is wrongly matched?
(A) Mricchakatikam: Shudraka (B) Raghuvansham: Kalidasa

(C) Buddha Charita: Asvaghosa (D) Kadambari: Harshavardhan
Frer % & i wa & T JEw @ HE A 7

, P
) : ) Tgdey : @

4

\
Which were the three main traditional styles of temple architecture in India?

(A) Nagara, Kalasha and Mandapa (B) Vesara, Dravida and Ratha
(C) Nagara, Vesara and Dravida (D) Nagara, Vimana and Shikara
e % § aa # At wagae @ 9 9qE T Sl @ a7
(A) ¥R, &Wy UF HSY ) e, wfas wd ™
(C) =, 99T ud w9z (D) =, fmm wd Rra
Match List I with List Il and select the correct answer
List I List II
(1) Belt of Calm ./,Ai) Coriolis
(2) Deflecting Force===="_ (ii) Doctor wind
(3) Roaring Forties (i) Doldrums
(49) Harmattan (iv) Westerlies

m @ 6 @
(A) (i) (i) (i) (i)
(B) (iv) (i) fiii) 0]

1

Dy (i) (v) (i) (i) /)
;ﬁilmﬁaﬁ@llﬁmumammmmwm |

I @ 1 |
() = o a7 () @i
() fowdfan @ - (i) e fis
(3) e e (i) S
(4) wTOIE (iv) awefela

m @ 3 l'tﬂ
Ay @ @) G )
®) vy (@) (i W
© Giy (M @

bay by Dadoha_an_d Aln‘g_ara;q.!{aqdﬁ-_a[.g?

T T 1 st g e e o 5

//:)/O

LI/b
=




72 Match List I with List II and select the correct answer

List 1 List 1T

(1) Nilgiri (i) Sagarmatha

(2) Satpura (i) Mt Abu

(3)  Aravalli (iii) Dhupgarh

(4) Himalaya (iv) Doddabetta
MHm @ 6 @

(A) (i) (iv) () (D) <P

(B) (i) (i) (i) (iv) N

©) (Gv) (i) (i) (i) o

(D) (i) (iv) (i) (i) ]

T | &1 fae @ 1% @ Al qo wd e gfd
1 Ecil |

(1) <afrd i) T

(2) wags ii) g udd

(3) et (i) U

(4) Tewmra (iv) _\_53;]51?1'51

A Mm@ & @
oW w0 i) P B
B) @) (i) (i) (W}\P s
(€) Gv) Gi) (i) (i)——

o

=i

Sriharikota, where Satish Dhawan Space Centre is located, is situated next to which lake?
(A) Chilika (B) Pulicat

(D) Gii)) Gv) (i) ()

(C) Vembanad (D) Kolar
At s ot 5 e ae e e opfem ¥, few @ & wha Raa & 2
(A) e ' g AB) Tme
(€) FTm Ly (D) Fmm

Vishnu Narayan Bhatkhande was a renugvncd figure in which art form?
(A) Hindustani Classical Music dj (B) Marathi Theatre

(C) Early Indian Cinema i (D) Carnatic Music
fero o wrrE few @ S & e ot g
(A) frgeri s wia AB) T i
(C) ity wreda fadm

agreement? 515 NOT a member of this free trade
. -
(A) Austra.lla O (B) New Zéalang
(Clﬁngcla%“é by ~= (D) Bangladesh
FIW ®f H w1 : =T i H@mﬂ'(RcEp)wﬁ :
%Iﬁﬁﬁﬁﬁﬁ_ﬂ_ﬂﬁl_aﬂaﬁwmﬁmt :ﬁ'& =iftEs H9 (Block)
\ % o ~— —— v
- (A) sfefmr . (B)  siivs
€ 7T (D) atvamdey
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77

9

Which of the following pairs are matched corres:}v?

(!; : National Stock Exchange

(i) “FRBM Act : Fiscal Deficit W

(1)) SEBI : Insurance Regulation

(iv) Special Drawing Rights : International Moneta g -4
i (v) Moody’s : Credit Rating oA

(ii), (iv) and (v) only ~1(B). (i), (i d 1
(C) (i), (iv) and (v) only 3 ) Ei).};{i(i;:)(i?i[; 0(:1)?0”
Pt & &4 & & gqm o o P & 7 O

() Prewse : Ao o www

(i) 7% o A T vw ;e O

c=f|

(iii) ¥ : dw Pafry =
(iv) ﬁmmmm:maﬁmgmm
w B
) (i), (iv) 3T (v) (B) T (iii), (iv) #f7 (v)
(C) fad (i), (iv) 3T (v) (D) fa (i), (i), (iii)

During the earlier/ancient period the Haryand' region was known as
(i) Brahmavarta

(i)  Aryavarta 0
- f:ii)i} gmhomuupdm =l
i) and (ii) only (B) (ii) and (iii) onl
(C) (i) and (iii) only R‘E’;(D} All of th(e zlbuvg
U e ¥ efaen dw e Tm & wtm a7
(i) wEmEd 7
(i) omatef 7
(iii) @&ITES
(A) fad (i) o (i) _.(B) Tk (i) s (i)
(C) fad (i) o (i) (D) wwtw wh
Who gave the title of Naib Bakshi and Ra{;‘lﬁ]:: Balram Jat popularly known as Balu ?
(A) Akbar 7 (B) Jahangir
(C) Muhammad Shah (D) Aurangzeb
q1g & AN ¥ WA a0 W B TG gah o7 v a sty fee wee @ @ ?
(A) @At — WAEIT
(C) Temw e (D) st

Consider the following statements

(i) Haryana State was formed on the recommendations of Sardar Hukum Singh
Parliamentary Committee

(ii) Shah commission was set up undet'the Chairmanship of Justice J C Shah to divide
and set up the boundaries of Pupjab and Haryana State

(iii) On Ist Nov 1966, Haryana as the seventeenth State of India came into existence
Which of the above statements is / are correct ?

i) and (ii) only . ~(B) (i) and (iii) only
Eé; E:; ggd Eiii)) only m(D} All of the above
FA

Lrg: ~ =
ﬁ(i) ERATT T &1 T8GR ggnide gudn gffy @ arsen ot R mn
/ﬁf)‘ G ST T e F favrer it @ & et & R iew . @) a9 evae
A §TE arrnT @ e G mm o
(i) ~T T 1966 F Wa & waed W & wY H wfvwn siew ¥ amn

i A AT aH R E P )
(A) fak () o (i) B) ki (i) ol (if)
(c) fad (i) &t (iii) (D) 3Tt Wi
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f

ﬁb In March 2021, Ngozi Okonjo-Iweala became the Director
(A) World Health Organization (B) World Bank o
(C) World Tourism Organization (D) World Trade Organization
/ﬁznznﬁ'maﬁ i <o et & @ Rl SR e a0 E 7
(A) fasg wmer wmed (B) fava %
(C) Tasa gz & (D) fagg =TT WIS

81  Which of the following pairs is alchcd?
/('() Tesla : Electric Car
(B) Bitcoin : Crypto-currency

(C) Pokemon Go : Augmented Reality mobile Game ( / 1w

(D) Zoom : OTT Streaming Platform q
= # | B @ e e ¥ 7 \ . U}U)
(A) ZEm : SAMEE &R lu'”“

R e e W\ Qo

(C) gt > wivirys R sharger
(D) & : S Pt wewH o

/J Largest freshwater lake in the North East of India is located in which state?

(A) Manipur (B) Mizoram
(C) Meghalaya (D) Tripura /
wet qd wrea f WA 9 9% e @ g (freshwater lake) frm T # ¥ 7
(& =g (B) e
(C) ¥umwm (D) Fgu

8 In February 2021, which NASA rover landed on Mars?

/ (A) Perseverance (B) Curiosity

(C) Hope (D) Viking
w2021 § A e O G F B YA A0 av ?
(A) wifataea (B) wgfaitfd
I (D) amzhim

84 Mahatlma Gandhi was elected as the President of
In which of the following sessions did it happen?

(A) Amritsar Session 1919

the Indian National Congress only once.

—

(B)  Belgaum Session 1924

(C) ﬁu;; i:;sion 1929 (D) Lucknow Session 1936

- TH A AT W S '
oftd gan ? P G TN W | P @ P ol § T
(A) oA ST 1919 /f{) I A 1924

(C) e aifds™ 1929 ®
) W afde 1936
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atch list I with Jist |

List 1
) Laxmi Swam;j M
Mminathan () Hoisted the flag at Gowalia
@ Mad ) Tank Maidan in 1942
m Cama (i)  Attempted to assassinate
B Ao hat Governor Jackson

{!ii} Led the INA women’s brigade
(iv) Unfurled the national flag for
the first time on foreign soil

(4) Bina Das

M @ ¢ @

(A) () G Gii) (v
®B) (v) (i) (i) Ei))
© Gy () vy (i)
(D) (i) (iv) (i) (i) “
T 1 & e g 1% w S
T

w1

(1) @& Ee () 1942 % T % eW W
WETTE e

(2) Few @ (i) TEAT HwET B T B W
vara

(3) oTE A STLS (i) @ v U @ qtew frE & A9 w5

(4) 9 T (iv) i e B sl o 9
FAWH HE Al

Mm@ 6 @
(A) () (@D (i) (V)
(B) (@v) (@) (i) (1)
(€) @iy @ (v (D)
(D) (i) (iv) (D) (ii)
Who among the following revolutionaries were hanged in the famous Kakori Conspiracy case?
(i) Ramprasad Bismil
(i) Rajendra Lahiri
(ii1) Asfaqullah Khan
(iv) Bhagat Singh
(v) Thakur Roshan Singh
(vi) Chandrasckhar Azad

b (B) (i), (i), (iii) and (v) only
(4) J{?)" E;?),a[ic:f‘;eand (vi) only (D) (i), (iii), (iv) and (v) only
1(;—2; o ﬁ#ﬁﬂﬁmmﬁmmﬁw&wﬁﬂﬁ ?
faferet F
(1)

(vi) ﬂﬁw‘d% ) fird jﬂ (i, liﬁ{l 3l f\é

(A) 5 T afrt (vi) (D) ik (i), (i), (V) ait (v) ¥
s (i), (G () )(]
S 27 ﬁm

oo HFSC ML 1

Lgcnn: HPSC -

nz HOSE HPAE 1IPSC 1750 HPEC IEGC HPSC HNSS RESC HPSCHE

I

HESE NSEC HP

-
2o

V2 HPES RPETG T
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Ibe
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Consider the following statements -
(1) Right to Vote is a legal right and not a fundamental right
(2) Right to Property is not a fundamental right.

; th H
(3)  Article 300-A was inserted in the Constitution of India by the 44 constitution
amendment.

(4)  Article 301 pertains to the Right to Property
Which of the statements given above is/are correct ?
(A) (2), (3) and (4) only (B) (1), (2) and (3) only
(C) (1), (2) and (4) only (D) (1), (3) and (4) only
o meet wt fome w0 ‘70
(1) waam &1 AT Bepn e & adr wifie St @

)}I} Hufg @1 At Wifs it T8 E |
(3) e 300-A wred ¥ dfrer § 449 wfaum dsiem gma @wifed fewn T
(4) ergad 301 wufe & afteee @ weEfad ¥ )
TR A AR e A P
(A) fd (2, (3) et @) (B) R (1), (2) sf (3)
© fas (1), @ i (4) (D) fab (1), @) sfT () f

Which of the following statement is not correct ?
(A) The objective resolution of the Indian constitution was laid by Jawaharlal Nehru.

(B) The objective resolution of the Indian constitution was laid by Dr. Bhimrao Ambedka

(C) H.C. Mukherjee was clected as the vice-president of the  Constituent Assembly.

(D) Dr. Sachidanand was clected as the interim President of the Constituent Assembly.

@ H 9 % W TR & 7

A) Wﬁwwﬁwwmmmmwm/
(B) m&uﬁﬁmma&sﬂmﬁ.ﬁﬁmmmmmm N

(C) wa. . gawi @ WuE w0 F vEs b ey ¥ Prffed Pem mn e o
(D) €. w\fEEEE @ ﬁﬁuﬁmﬂﬂamﬁqaﬁw%mﬁﬁaﬁﬁﬁmww/

Which of the following is mentioned in Article 21 of the Indian Constitution ?

) Rule of law (B) Due process of Law
(C) Procedure established by Law (D)

Equality before Law
Pt & & Poan o W GRS o o) § 3 "

(A) Fafa &1 gmas

(B) faf =5
(C) . faf wro wenfira witear o s

(D) ﬁfhéﬁm ‘f



90 Which of the following commissions onstituled to look into the centre-states relation
] in India ? . )

(A) Sarkaria commission (B) Rajamannar committee
(C) Soli Sorabjcc commissi;)n (D) M M Punchhi commission
Wﬁﬁ%ﬁﬁ*ﬂmmﬁgjﬁm%m o 7
(A) wOmiE A, (B) m=rrr ARy
f}’ﬁmmj (D) ™ ™ g

9 Which of the following article of fundamental rights is available only to citizens of India ?
(A) Right to equality (Article 14)
(B) Right to life and personal liberty (Article 21)
(C) Right to freely profess, practice and propagate religion (Article 25)
(D) Protection of cultural and educational rights of minorities (Article 29)

frer & & aFe TR % s afmr Saa wia & i @ wa E 7
(A) wuFar & afusn (sgee 14)

) W oft @R W sk (eR 21)

(C) =i @ weFads ywe, WE A wER B0 @ afuwmn (smeR 25)
(D) mﬁ%mﬁmqﬂﬁmmﬁm(a@zz_ﬁf

92 Consider the following statements about Public Accounts Committee in India :

(1) Public Accounts Committee was founded in 1921.
(2)  The chairman of the Public Accounts Committee by convention belongs to the main
opposition party. .
(3) The tenure of its chairman and members is two years.
Which of the above statement isfare correct ?
(A) (1) and (3) Only (B) (1), (2). (3) Only
(C) (1) and (2) Only (D) (2) Only
W B WE v winf o fe e w ke Sne
(D) e afify 1921 % wfm g8 |
- (2) m@mwmam@ngmhqmaﬁmﬁmii
() wEE sy qm GeEh @ anwm o ad @ g b
TR T § wEE w owa k7
(A) ik (1) s (3) (B) Frd (1). (2.
(€) % (1) afr (2) (D) ik (2)

S 29
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94

Consider the following statements regarding anti-defection law :

(1) The anti-defection law was enacted during Indira Gandhi gOVET

(2) It is placed under the 10 schedule of the constitution.

(3)  The anti-defection law was further strengthened by the g3rd .

(4) The law mandates the chairman or the speaker of the respective
decide on disqualification arising out of defection.

Which of the above statement(s) is/are correct ?

(A) (1). (2) and (4) only (B) (2) and (3) only

()  All (1), (2), (3) and (4) (D) (2) and (4) only

Toaa o s % wed ¥ frer w e sifed

(1) o Frdeh et shen T e & 4w 1984 & afufrfa fear

(2) =& dfum @ 1060 emgeh & =W fm o

(3) wwaaw faddt w2003 7 93F HWehew ¥ ofw g R |
w,ﬁmﬁmﬁﬁﬁmf@qmﬁm_@mﬁ_ﬁqﬁﬂmmﬁvﬁm

nment in 1984.

amendment in 2003.
legislative house to

£l T Em
IO FHEA N G miwer e e 7
(A) fak (1), (2) & (4) (B) fa& (2) &t (3)
(© @0 (1), (2), (3) ofiT (4) ;ﬂ (D) fak (2) & (4) ¥

Which one of the following cnmminagg_gllﬂnnnhaya!%cstcd constitutional amendment

to ensure Panchavati Raj institutions ? -
(A) Hanumantha Rao committee (1983) (B) L.M. Singhvi committee (1986)
(C) G V.K. Rao committee (1985) (D) P.K. Thungan committee (1989)
dEEEl e 9 e Fre A @ Rew gy 4 dard ow sensl s ghiias s i d@dute
gl w1 gama fan 7
(A) wF=1 9 wiHfa (1983) (B) um. uH. fowdr afifa (1986
(C) =i 41 &. w9 wEk (1985) (D) dv.%. g\ (1989)

Consider the following statements regarding Election Commission of India.
(1) The Election Commission of India is a five member body,

(2) The Election Commission decides the election schedule for the conduct of both general
elections and bye-clections.

‘Yf;p The Election Commission resolves the disputes relating to splits/mergers of recognized
political parties. :

4)  The Election Commission of India provides election symbols for newly registered parties.
Which of the statements given above is/are not correct ?

(A) (1) and (3) only (B) (2) and (4) only

(C) (1) only (D) (1), (2) and (3) only

wTTd & frara eman & et d [ ’
1) wig & Prafas s g wesi & den 3

-~ F

(2) Frafe omdm o T T G B WA T wdE i a1
() Frafes o W T T % e R el P @) g e
(4) W @ e ST T GG w W g e w b |

ST 6 T e W @ A WA T R 7

(A) ok (1) &t (3) (B) Tk (2) ol (4

(C) fak (1) (D) Tk (1), 2) sl 3y

W

21]_[) 3[} '_/




96  Which of the following is correct regarding he 1 o Sabha s

(A) He/she hold the office during the pleasure of th =
£ 3 or e President, —€_—"
(B) He/she declares any financial bj|| a4 money bill and his/her declaration is final.

() It bedhe Imero tet i, fie [etter of resignation has to be addressed to the President.
(D) H{”‘Shc musl be Ehe most SEI‘IiQr meﬁbér&f—l]ﬁl?)mr_._'—u—_-
mma%ﬁaﬁ#ﬁwﬁﬁw% W

(A) ﬁm%mw&amﬁnw%_‘/

AB) T T W Rl Fww 2 o e s ae e & qen o afm A9 3
C) ﬁﬂmﬁtmmﬁ,_@wmﬁﬁmmm%u

(D) ﬂmﬁaﬁﬁwmmmﬁﬁé

97  Which of the following groups of organic compounds are least likely to be used in making of

perfumes?
(A) Alcohols (B) Carboxylic Acids =~
(C) Esters y© (D) Aldehydes
Fret & § @ § ST SRS % W% &1 TR TR ¥ Ted ) e S B ¢ 7
(A) UrwrEra ' " (B) wmEffwfe e :
© T (D) e
98  Which acid is used for cleaning gold ornaments?
(A) Nitric Acid (B) Boric Acid
(C) Sulphuric Acid (D) Oxalic Acid
@ AT B A 59 B W R @ v e e ¥ 7
(A) =z tfte (B) diftw tfers
(C) wergha thrs (D) T s
_ T A
99 Which of the following does not involve Total Internal Reflection?
(A) Mirages in Deserts (B) Kaleidoscope
(C) Diamond Sparkle (D) Transmission of light rays in Optical Fibres
Frer & @ Pl qof ariefs el v T E P
j ¥ ot ﬁl_iiﬁ@::)

- @ Rreiftremee | 998 )}. ATrd BrEaT A W R w e

Which of the following is true in reference to the Blockchain Technology?
(1) Itis a cryptographicdlly secure database or distributed ledger shared across a number

of participants

(2) It’s a digital ledger of transactions /{SM ¢l1e-
(3) Blockchain is a Cryptocurrency. o
) 1 & 3 only (B) 1 & 2 only CW,
(C) 2 & 3 only (D) 1,2 & 3 only

T apTE s A FE A S e arai & 7
() s Tt w1 9 g0 SERR A g weiE & 4w R ey

AT E | o
E (2) e Zoraerd [Eica ¥
' (3) At umARLHEE ¥

(A) faf 1 afrt 3 (B) fuak | aix 2

(C) fuk2 a3 (D) fak 1, 2 a3
|
E
f
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